Upplands BF
IAF fran DM-lagfinal Rond 2:2

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: 10.

Plac Par Poéang Namn MID
1 303 1.80 Christer Eriksson - Joakim Nordlindh 9292 35307
2 202 1.77 Krister Ahlesved - Niklas Warne 13995 15344
3 1 1.63 Anders Blomé - Ulf Nohrén 13107 2798
4 3 1.30 Hans Kvick - Bjorn Alenfalk 2878 2828
5 102 1.11 Johan Séafsten - Per-Erik Malmstrom 35452 23472
6 204 0.97 Lars Ramquist - Frank Westman 80480 2822
7 104 0.39 Thomas Ivarsson - Bjorn Wenneberg 6659 1912
8 101 0.11 K-G Wanngard - Mattias Jonsson 6634 22897
9 301 -0.11 Sten-Sture Gillestrdom - Kjell Hedman 6066 2832
10 304 -0.39 Eva Brantingson - Tommy Storm 89760 14393
11 4 -0.97 Gosta Kron - Goran Mattsson 50145 6183
12 302 -1.11 Rolf Staflund - Arne Lindqvist 9211 2598
13 203 -1.30 Marito Karlsson - Peter Huotila 15214 4317
14 201 -1.63 Goran Rangevall - Anders L6vling 2876 18166
15 2 -1.77 Lars Olsson - Rolf Nyman 2795 2588
16 103 -1.80 Mikael Fahlander - Bjorn Karlsson 13534 2879
11 4754 Bésta kontrakt 12 & Kn65 Bésta kontrakt 13 4 E8 Bésta kontrakt
Syd vKn97642 4v S =420 Vast vED2 34 N =140 Nord vD5 5¢ N =600
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 44 S= 7 420 66.0 -66.0|104 304 34 S= v6 140 37.0 -37.0 2 202 3NN+2 44 660 34.0 -34.0
102 302 4vy N= ¢A 420 66.0 -66.0 (103 303 4v V-2 #8 100 29.0 -29.0(102 302 3NN+2 &J 660 34.0 -34.0
2 202 44 S-2 7 -100 -18.0 180 1 201 34S-1 v6 -100 -11.0 11.0 3 203 5¢ N= v6 600 21.0 -21.0
4 204 44 S-2 ¢7 -100 -18.0 18.0 2 202 44 S-1 &5 -100 -11.0 11.0 4 204 5¢ S= vK 600 21.0 -21.0
101 301 44 S-2 ¢7 -100 -18.0 18.0 3 203 44 S-1 T -100 -11.0 11.0(101 301 5¢ S= vA 600 21.0 -21.0
103 303 44 S-2 ¢7 -100 -18.0 18.0 4 204 44 S-1 &5 -100 -11.0 11.0|103 303 5¢ S= vA 600 21.0 -21.0
3 203 54 S-3 &6 -150 -30.0 30.0[101 301 3NN-1 vJ -100 -11.0 11.0 1 201 6¢ S-1 vK -100 -71.0 71.0
104 304 44 S-3 46 -150 -30.0 30.0|102 302 34 S-1 7 -100 -11.0 11.0|104 304 3NS-2 vA -200 -81.0 81.0
14 & K97 Bésta kontrakt 15 49 Bésta kontrakt 16 492 Bésta kontrakt
Ost vD103 24 O =-90 Syd vE63 5¢v S =650 Vést v EK9765 4¢ ND-1-100
Ingen + E873 NS + EKn10954 ov + K1095
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Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
104 304 3NS-1 #A -50 9.0 -9.0|101 301 4v S+2 6 680 33.0 -33.0 1 201 2v N= &5 110 16.0 -16.0
2 202 INO= ¥5 90 -1.0 1.0 4 204 3NS+2 48 660 27.0 -27.0 2 202 2v» N= 7 110 16.0 -16.0
3 203 INV= &9 90 -10 1.0 1 201 4v S+1 #A 650 27.0 -27.0 3 203 3¢ N= 47 110 16.0 -16.0
4 204 INV= o7 90 -1.0 10102 302 4vy S+1 ¥8 650 27.0 -27.0(102 302 3¢ N= #4 110 16.0 -16.0
102 302 INV=  &T 90 -1.0 1.0 3 203 4vS= &A 620 19.0 -19.0|104 304 2¢ N+1 #A 110 16.0 -16.0
103 303 INV= &9 90 -1.0 10104 304 4vy S= #A 620 19.0 -19.0(103 303 3v N-1 &5 -50 -15.0 15.0
1201 2¢ N-2 T -100 -20 20 2 202 4vS-1 #A -100 -76.0 76.0(101 301 24 O= T -110 -31.0 310
101 301 2¢ N-2 6 -100 -20 2.0(103 303 4vS-1 &A -100 -76.0 76.0 4 204 24 V+1 & -140 -34.0 34.0
17 4 ED72 Basta kontrakt 18 497 Basta kontrakt 19 4932 Basta kontrakt
Nord v 975 4v O =-420 Ost vD54 34 O =-140 Syd v 1072 54 V =-650
Ingen 4987 NS 498754 ov + KKn105
#K107 & ¢ v & NT #Kn42 & ¢ v & NT #E32 & ¢ v & NT
.- 4KKn10984 N 4 3 3 4 4 4 EKn10642 485 N465 44 4 KKn765 4 E108 N355 23
vK86432 vE S 43344 vE106 vKn97 S 46545 v 63 v EK94 S35523
+KD102 +¢E63 O 7 10109 8 ¢ EKn ¢ D32 0978938 ¢E7 ¢ 6432 09 8 8 119
%952 #DKn3 V 7 10109 8 «D7 #K10865 V978938 #KKn107 #96 vV 9 8 8 119
4653 « KD3 aD4
v DKn10 v K832 v DKn85
¢ Kn54 + K106 + D98
*E864 #E93 «D854
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 44 O-1 vQ 50 51.0 -51.0 1201 24V= ¢9 -110 27.0 -27.0 1 201 34 V+1l T -170 42.0 -42.0
1201 24 O+1 vQ -140 17.0 -17.0|102 302 24 V= ¢3 -110 27.0 -27.0 4 204 INO+3 &5 -180 420 -42.0
3 203 24 0+1 vQ -140 17.0 -17.0(104 304 24 O= +2 -110 27.0 -27.0 3 203 34 V+2 42 -200 38.0 -38.0
4 204 34 O= vQ -140 170 -17.0 3 203 24 V+1 v4 -140 20.0 -20.0|104 304 34 V+2 42 -200 38.0 -38.0
2 202 24 O+2 ¢5 -170 9.0 -9.0(101 301 24 O+1 &K -140 20.0 -20.0 2 202 44 V+1 T -650 -40.0 40.0
102 302 4v V= #6 -420 -37.0 37.0(103 303 14 V+3 ¢4 -170 140 -14.0|101 301 44 O+1 v2 -650 -40.0 40.0
104 304 4v V= ¢7 -420 -37.0 37.0 2 202 INDS-2 43 -500 -39.0 39.0|102 302 44 V+1 5 -650 -40.0 40.0
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103 303 3NV+1 9 -430 -37.0 37.0 4 204 INDS-4 4A -1100 -96.0 96.0|103 303 44 V+1 42 -650 -40.0 40.0
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Par Kontr Ut Res Poang
104 304 2v V-3 ¢J 300 2
1 201 2NS+2 ¥4 180
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3

3

5

wwE R
wwE R
c63

102 302 INS+2 ¥4 150 -
103 303 INS+2 ¥4 150 -

4 204 240-1 &5 100 -1
101 301 24 0-1 #4 100 -15.
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